THR A2|=

Q9 8|7 A2ic]

030~80

(1]

H3 - m|L20f 2l5te 2| H2SS she
M 7e 22N Lo,

Al

Lo |

S5 - DAY - B2l RV ks3I

210} LiZS 030~807HRl0l 55, XIX| A2 SD

201002 5 of 2 A 4% 8 4 Utk

S 71 70 - 140kgf/ort Y ARIHZ A0 = Nzl 52
(32) 712 Y2 FHS310f St Fuot Hol LIRS LRI

| FAZ, FBY

[
0
1o
o?
mjo

N> R
Q & o

m

b

U

- QEMAM S Mtype= HIX7HSEHRC| Q%)
O S
> = 4 > AR
=] A THR 35kgf/cr

EEREIS
830-840-850- 863- ¢80

90° -180° (3 2 3 AEE M7 7k5E. 29 2Y)

THR 90 S/ W i

AR U 253% +5° FRAS(EE 29| 2F)
¥ A E 3 930 : 5.6kgfm 840 : 10.6kgf.m
o 5 850 : 22kgfm 863 : 43 6kgfm
(85kgf/e) 880 : 84kgf.m
7|5 Mo 35kgf/a(3.432MPa)
O NN kgf/ai(4.903MP:
@ XX YA(SDE, FAH, FBE) Sf?k:f//:nr':l((() f&;i/lPa?)
AEIE WZmm(830- 240 850- 8 63- 280) = L
Q% ZE(90° - 180° ) AE2EHH -10T~+80T
28 A= s
i i

Uit B2y Y58
71012 IS0 VGe800] st 22
SD%-FAH-FBH

0|
J
ne |40

N
=2
to

>
>
og
1=

> 0|2 & E3M T8
- HZ 830 940- 950 -L4Z 963280

x|
© g 2oy E 53
20|
250 60 25 alc| sk= ABAE Fl=
m mm . IC1Y 515 AHAE 515
§ =3 (I o5 930 ! 70 40
e Sl 840 | 145 80
21 kotfor 2t kotrr 950 | 190 10
963 250 150
%80 300 180
- JHEE HE WY (3) SIE EOE 2 5150] 7 MDEX Z2IX| 2ES Tofs) FAAL.
A 21210] 20kgf/crioll E37t 40kgtm TRAlOl= B Q12 4%
O 27} A1g5{0l WHS T 0| HS HS LS FalR LY
0807t ME B e mETE R - 2Ef2| 570 SRl 7S 012310 BRi2HE ZELIAI 20f
77) ME B3k 5b7l0] 4712 BEOR 510 TS, THAL. s o )
THAZ0| RIS AL - 60~B0% - 23 R AHM RS2 B4 o g FR0I= B AE7IE MSHl
20| 2 A2 - 25~35% FHAL.

921
www. TPCpage.co.kr




THR A|2|=

030~280

> 2 Xk FHZE 180°

. 7§§(SD§) 2X3-F

ST 7E 8l 2t
DP= KB l ;I’;j%}FEIﬁOSE
o [ |
0 . D
g2 Rl
o © e
_____
<8l L A
o-FE © =
8 _b_
A 2-EE | .ﬁf + ’ i
T 1 )
T (] @T 1@ - o
o v o
@ @’ é £ — 1 g
M — ,@ @ &
| \ g
G \ BL
AK AJ AH AJ AK BA BB
A B
- SUXEFAS) - SHIXIE(FBY)
CA
4-CF i CB i CE — 4-CF
& B []
] [ d
‘ — _
5 8 Fle e/ H) —— 5 8
3 diee ) gl 5
©
S L]
» Dimension
Lz
930 364 | 8 112 22 10 102 58 44 12 38 855 36 46 24 | 20 144 105 | 85 125
940 409 106 125 26 13 126 72 53 14 60 @865 43 54 30 27 184 125 | 100 @ 150
¢50 483 120 1515 30 | 15 | 140 80 | 60 5 | 60 875 50 | 62 | 40 | 33 | 202 145 | 120 @170

863 581 | 144 1885 30 15 | 168 = 96 | 72 | 1383 @ 14 16 | 84 890 60 | 73 50 | 40 247 | 175 | 140 | 210
880 | 668 168 214‘ 36 | 18 | 200 16 | 8 156 18 20 84 @110 68 | 88 | 59 | 48 | 278 | 210 | 170 | 250

830 13 101 PT1/4" M8x125 | #83h7 16 36 822h6 6 6 3 32
940 | 15 122 | PT3/8" M8x125 | 8104h7| 16 | 58 #30h6 7 8 4 50
850 @ 16 g1 139 | PT1/2" M10x15 | ¢117h7 20 58 #38h6 8 10 5 50
863 18 814 165 | PT1/2" M12x1.75 | 8140h7 18 | 82 #50h6 9 14 55 | 70
880 22 816 195 | PT3/4" M14x2 8164h7| 21 82 #55h6 10 16 6 70

922




got 518 a2y THR Al2[=

030~80

> A R 3T 90°

« 7|123(SDE) SiE 71 B 2E
3|1 2= 180°
»—
SN - e
& & [CR.
Hi i
. F

BF

[
& 3 © OIS 4 ©
® — i —
i3 — - © | & &
\ \ \ 8
@ | BL
AK AJ AH AJ AK BA ‘ BB
A

i
=
=1
99!
I
&
i
&
]
oF
g

B CE 4-CF

CK
CD
CL
H
CK
CD
CL

CM
i
ol
T
s
CM

» Dimension

89 | 145 PT1/4" | M8x125  883h7

940 89 | 180 PT3/8"  M8x125 | @104h7

950 g1 | 195 PT1/2"  MIOx15 @17h7 | 20 58 8386 8 10 | 50
963 814 | 240 PT1/2" 'MI2x175 @140n7 | 18 | 82 | @506 9 { 1 | 55 | 70
280 816 | 290 PT3/4" | M14x2 | @164h7 21 | 82 | @55h6 10 | 16 6 | 70

923

www. TPCpage.co.kr



